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BT HE = 1,897, 775
THHRYEL 2 1,897, 775
P B ek i U E 2 1,412,769 |S/EMT 0.43 t

SS400 PL t=38 ;

BYEI T 0.74 t
SM400A PL t=<1t38 ;

BYEI T 0.49 t
SS400 CH 10X 300X 90 ;

BYEI T 0. 005 t
SS400 L 6X50%X50 ;

BYEI T 0. 05 t
STKR400 2. 3X60X 30 ;

BYEI T 0.16 t
STKR400 3.2X100X50 ;

BYEI T 0.26 t
STK400 PIPE 406.4X9.5 ;

BYEI T 0.19 t
SS400 FB 6X50 ;

BYEI T 0. 006 t
SS400 RB ¢ 25 ;

BYEI T 0.03 t
SS400 RB ¢ 30 ;

Kby b 4 i)
SS400 M22 X 100 (2-W) :
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T 55 m2
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I FVRIR R T WALEEE 1A ;
FRE 55 m2
(C-5¥4E7R)
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k% 55 m2
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SEESiE T 2 1 368, 424
T T = 1 2, 266, 199
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(T RAERAT) 2 1 2, 848, 366
BRI E T EH = 1 10, 605, 378
T 358 ik T Y 1 82, 500
ik T =Y 1 82,500 |#hiE 1 =
it Bl S ok A 26 Lk
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— e
ki 0.12 t
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FEM7-Fv0 T2 2 225,684 | FLsbS 3 m2
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k% 0.1 m2
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BT T = 1 2, 895, 988
5 (-4 T = 1 2,895,988 | sk (KIr) B 1M 240 m
& 0.8m 7" V¥yabav))—p7" ny s A
R A8 T = 1 401, 021
BGE T = 1 401, 021 | &)@ HilE 0.4 kg
I EAIERERNY 7 2RV
W CHHR 8 (B
AL E S 1 F2V
BERRTHZEN ;
FageAfs T = 1 17, 788
Bl R ST t 9 T = 1 10, 231 | B iae: 2 m
K E T 2 1 7,557 | FRIEWRE 0.3 m2
Bk a= kg b ;
HGBaE T Y 1 625,914
TG BEE T = 1 625,914 | ERERUREE [EMHA STy 21—y T3] 1 &
SZHIFHEE (3 V) T2l RS X -7
HEYE T Y 1 21, 201 ’
EERUE L T = 1 15, 776 | ElEERRA A 15 m2
/) ) - MR EEERE 5 cm
A IR A 5 m2

TAT7 VMR BEERRE 4cm
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/) -k (BERR)
Stk 0.2 m3
TAT7 bk (HEED
RISy 0.7 m3
/) -k (BERR)
RISy 0.2 m3
TAT7 bk (HEED
A Y 1 2, 540, 640
R8T = 1 269, 740 | I PT/EZE &R 1 F2V
[77 =07 « WRIAT v HEMIIA7" ] YEERES8~10
m A (—RERTE ) ;
e 1 T
TEFRy BB
AEEHE T Y 1 2,270,900 |A3W kB Ym 5 1 7
[ERAE Xy = 1 10, 605, 378
HiE 2 2 1 3, 632, 800
BISTIGE: = 1 221, 800
HeffrE sy = 1 58,800 | MEHERYFAT ~IERE 1 =
BGRESCGES (5 1) = 1 163, 000
B (FEHL) = 1 3,411, 000
T = 1 14, 238,178
Bl gy 2 1 10, 278, 000
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T AT 2V 1 81, 844, 527
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BRI e T H = 1 2,293, 679
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I3y BB AIE SRR 7 2FESVY
TR R 7 (B
AL E S 1 F2V
BERRTIZAN ;
FageAifs T = 1 25, 899
M E T = 1 25,899 |EmHLE 0.6 m2
Bk a= kg b ;
HIBEE T Y 1 508, 884
TG BEE T = 1 508, 884 | LR URAE DI B RLEE Y ) a— T 3E] 1 &
SZHIFHEE (3 V) T2l BSLE (X -7
A Y 1 907, 330 ,
B L 2V 1 169, 170 | EATE3E HLIEES 1 F2V
[77 =07 « WRIAT v FEMIIA7" ] YERES8~10
m A (—fRERTET)
AEEHE T Y 1 738, 160 | AZ Wik B2 8 1 =
[ERAE Xy = 1 2,293, 679
HiE 2 1 951, 000
HiE R = 1 48, 000
BGRESCESE (5 L) = 1 48, 000
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ol T 2V 1 3, 244, 679
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BRI e T H = 1 10, 441, 871
&R IEY) T = 1 305, 288
BEAKER R & T = 1 86, 388 | SHBLHE KM= 1 (EBR
H1~1250 X 250 X 150 ;
AL R S 1 F2V
BER% SR A
Wrim f&1E T = 1 218,900 |£'E Tk 1 &Y
0.003m3 & Ly - SRNBLSEALBENE |
R A8 T = 1 709, 450
e T N 1 709,450 | 4@~ THHE 2 kg
173y B BAIE R RN 7 2FESVY
A ! i
FagAfs T = 1 995, 160
G LiftlE T 2 1 977,519 | &)@/ HlE 0.1 kg
I3y B BAIERERN 7 2FESVY
A ! B
Bl VR BE ST fl o T = 1 3,926 | BLIAREERM A TR 0.4 m
THRERE M22
K E T 2 1 13,715 | REWRE 0.5 m2
Bk V) a=skEZE =) 5
BGBRIET X 1 4,919, 403
TG BEE T 2 1 435,332 | BRREREE M A Y ) 2-y Tik] 1 &
SEHIFRYE (3fEpV/A) T2l E¥RLE] (X ee-T
FEREAE T = 1 4,309, 271 %ﬂﬁéﬁ’% 5 m2
2FfNVy (@ TR EFTEOHH) ;
AL 5 m2
[ & LB 130 -
IT& 5 m2
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T4 | R 6 KEENBREENTF
TEHX4y « Tfd - FER B Az ¥ = & #A i il N BN
Bhggakl 130 - n-7— WEEEEem
FRE 5 m2
P X e AR
k% 5 m2
B8 i3 e BEEEERLE
Jes ) 1 2
WE - v-MEBA# ;
BB E BT Y 1 174,800 | FEHFHEE (F-12%:% %) 2 m2
SFEIV/A (B ) T EALER) ¥ V))oF~ (V% ;
IAba—p (F-1283E3R) 2 m2
ZEMEIR XVBHIE B T8 130T v—7— S 1
[
T (F-1284%) 2 m2
BRI vstiR e (X1 - n-7- BEERK 2
[
A Y 1 3,512,570
B L 7 1 169, 170 | EATE3E HLIEES 1 F2V
[77 =07 « WRIAT v FEMIIAT7" ] YEZERES8~10
m A (—fRERTET) ;
AEEHE T Y 1 3,343, 400 | A3 Wk B g B 1 =
[ERAE Xy = 1 10, 441, 871
IR 2 1 3, 537, 000
HiE R = 1 161, 000
BGRESCGES (5 1) = 1 161, 000
B (FEHL) = 1 3, 376, 000
T = 1 13,978, 871

- 11 - E ta2@d Ui




[R B & HS T N

R PERE b
TH4 | R 6 KEENBRMESN TH
THEXSy - THE - FE5 H7 & & # i Gl 2 N
e R E20 1 10, 127, 000
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BRI e T H = 1 478, 953
&R IEY) T = 1 328, 313
HEAKftiax T = 1 328,313 | HEAKE (HU) 3 ST
(KE1ES)
VP ¢ 150A- ¢ 200A L1=2.89~3. 30m ;
G S TE A 1 F2V
(KE1ES)
VP ¢ 150A- ¢ 2004 ;
A Y 1 150, 640
BT = 1 105, 700 | &4 1 =
(KEES)
AEEHE T Y 1 44,940 | 22 E L E R 1 =
(KEES)
[ERAE Xy = 1 478, 953
IR 2 1 435, 000
Mo R 2 = 1 25, 000
BGRESCGES (5 1) = 1 25, 000
B (FEHL) = 1 410, 000
T = 1 913, 953
Bl gy 2 1 1, 225, 000
T =5l = 1 2,138,953
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JE BEHERT 2 1 9, 632, 480
SN AL T =Y 1 9, 632, 480
S BLERESE T Y 1 9,632,480 | AR 810 MRS
FPRRIEER 1,010 B
TRIEER 1,010 B
[ERAE Xy = 1 9, 632, 480
HiE R 2 1 3, 207, 000
s E (i L) = 1 3, 207, 000
T = 1 12, 839, 480
Bl gy 2 1 9, 458, 000
T =5l = 1 22,297, 480
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